Sciengé of
intgfactions



Agenda



10,(=1,2,3,...N)

(X_ Xo)(x_ Xl)"'(x_ Xj—l)(x_ Xj+1)"'(x_ XN)

(%)

) (Xj _XO)(Xj _Xl)"'(xj _Xj—l)(xj _Xj+1)"'(xj _XN)

)

1 (=)

'i(x)‘{o (i#])
Py(X) Py (X) = Z yjlj (X)

PN (Xj) =Y,



PN(X):ZyjIj(X)

m=3

()_ (X Xz)(x X3) (X_X:L)(X_X3) f

( 2)(X 3) (Xz o Xl)(XZ o X3)

Pa(X)  (X,f1), (X2,2),(X3,f3)

L (X=x)(X=%,)

"

=% )(X5 — 2)



X, 101 ]2

fl1]0 |1
"""""""""" m=3
0,(X) = (X=X, )(X - X3) (X_Xl)(x_x3) - (X=X)(X=X,) ¢
()%= x) G x)0G ) 7 e %) =)

________________________________________________________________________________________________________________________



X fe

X, | O 2
fo|1]0
pg(X)= (X—XZ)(X—X3) fa (X—Xl)(X—X3) fa (X_X1)(X_X2) f

(X1_X2)(X1_X3) ' (Xz_xl)(xz_xs) ‘ (X3—X1)(X3—X2) i

(X=D(x-2), X-0)(x-2), (x-0)(x-1),
0-D(0-2) (A-00-2 (2-0(2-)

Ps (X) =

1 1 2
:E(x—l)(x—2)+5x(x—1) =(x-1)



F(¥)-P(X) = 7(x) (&)

1
(n+1)!
where, 77(x) = i[o(x— X.)

H(x) = 1(x) = P(X) - 7(X)G(X)
f(x)—P(x)

where, G(X) = )
T

H(x)=0

H(X) = f(x)—P(X)—7(X)G(x) =0

H(X) X, Xg,---,X, N+2

0



H'(z) n+l 0
H’(z) n 0
H”(z) n-1 0

H (+1) (& )=0 & X, Xg:Xqs---Xp,

H O (§ )= 0 (€ ) =10 0D (€ )G(X)Z0 e 100 P00

P(X) n 0 1 . A |
m D (& )=(n+1)!

8 % (n+1) HO9 = 109~ PO~ 9 ()2(x) =0
G(X)=——— f "D (E) . . (n+1)

(n+1)! f(0-PO) = F*()(x

(n + 1)' Si%_of



n

P(x) =a, +a,X+a,x* +---+a X"

n
. N n

: P(X) n+1l n
Q(x) P(x) Q(x) D (x)=P(x)- Q(x)
n
D(x,)=P(x,)-Q(x, )=f, —f, =0,k=0,1,2,...n
D(X) n+l
n n
D(x)=0
P(%,)- Q(x,)=0 P(x)=Q ().

P(x) n Vandermonde

Scieyva of

”IL(TC{LUU”b




F(X) b d/

Xy X, X3 X, "
y = F(X)
o [
C 4 ____________________
o V.
a «-

X, X, Xy X,
[ J
[ J
[ J
4 \ d
C
a
g Sciengé of
Xl X2 X3 X4 intg%ions




S=>'S

:(yo+y1+y1+y2 LYot +mynl+ynjh

2 2 2 2
yO yn

e T



F(X) X iy Kiens fiean)

X=X, X— X,
F(X) = foy f

j+1
F(x)

(9~ F 09 =2 (x- %)X~ X,

[F0=F( I max | £7(E)]e](x=x)(x~x,.) |

j=5="j+1



[ £ ogax= [ Fdx < [ £ - F(x) | dx

1 " Xjt1
<omax | F(E) ][ (=%, )(x=x;.5) | ok

X, =a J, 10 )¢ ;)
Xja=a+h=b = [[|(a+sh-a)(@+sh-(a+h) | hds..dx = (a+ sh)ds
X=a+sh X ,
b a :J'Ols(s—l)h ds
h:T h3 lf—\
= - |
6 I
/
Xj+1 Xj+1 Xj+1 /
|j f(x)dx—j F(x)dx|sj | #(X) - F(X) | dx
Xj Xj Xj /
| 4 h3

1 N Xji1 " .
< max | £'(§) | [ I x) (=) [ax =/ Zmax [ (&) || 2.




109 -FOOES max [ 17(6) || (x=x)(x=X,0),

| j f (x)dX — j F (x)dx |< j| f(X) - F(X) | dx
< max | 1(€) | [1(x=x,)(x= X, | g
h3 ; b-a ;

- max @ N2 max 170)

_(b-a)° .
o el ey

1/N2
N (e.g.2,4,8,.)




_____________

. ! 7

| | V.

| : V4

| : ’I

X Xjs1,

a a a, a3 a5

1 1/2 1/2 O(h?)
2 1/3 413 1/3 O(h5)
3 3/8 9/8 9/8 3/8 O(h%)
4 14/45 64/45 24145 64/45 14/45 Oo(h7)

int

Sciengé of
actions



2N

of

int@%ions

Scign




(X—Xl)(X—XZ) f (X Xo)(x Xz) (X—XO)(X—Xl)

PZ(X):fo )
(XO_Xl)(XO_XZ) (Xl XO)(X X) (Xz_xo)(xz_xl)
J-:PZ(X)zaofo+alfl+a2f2
1 b
*o = (X=X, )(X—X,)dx
: (Xo—Xl)(Xo—Xz)L‘ ' ’
X, = a
6ot 2 +sh—(a+h))(a+sh—(a+ 2h)hds
x, =a+2h=b YT @ (arh)@a- @+2my[( (a+n)( (a+2h)
x=a+sh—dx=hds| _ 3 e L
o 2hzj(sl)(s 2h‘ds="h
h=—_¢
2 4 1
alz—h,azzgh

K (x)dng(fo +4f,+ 1))

f Sci;% of
intgfactions
2n )

:g(fo+4f1+2f2+4f3+2f4+...




| T(X) - |:(><)I<— max | f(E)[e](x=%)(Xx=%)(X=%,) |

<E<
3 xj<é<x;

| j f (X)dx— j F (x)dx < j| f () — F(x) | dx

i

- <éﬂr_r_1?>_(ﬂ|"1i_(f)“(€)| [0 x) 06 )0 3) L
| - imed 9@ fIss N2 I
:Zgh%dx=hds :;\_;maxlf(3)(§)|S2_;NmaX|f(3)(§)|

2 - O~ e 10(9)|

O(h®))




N=2" T

Sn Tn Sn
Sn ﬂ Tn+1 1 Tn
3 3

43“{ f(a)+ f(a+h)+ f(a+2n)+-- f(b—h)+%f(b)}
2h 1
3{ f(a)+ f(a+2h)+ f(a+4h) +-- f(b—2h)+5f(b)}

:g{f(a)+4f(a+ h+2f(a+sh)+---+2f(b—2h)+4f(b—h)+ f(b)}
=S

n+1

Sciengé of
intefactions



N=2" (n=0,1,2,... n
T O T, ® (k=1,2,3,...)
TO(O) ;
(k-1) (k-1)
TO TO T =2 Tn "~ o
1 " 4 —1
T2(0) Tz(l) Tz( 2)
(0) 1) (2) (k-1)
Tn—l Tn—l Tn—l Tn—l
Tn(O) Tn(l) Tn(l) Tn(2) Tn(k)



20
60

 Aitken

Sciengé of
intefactions



